C:h Finding Correct Expression Name:

Deter mine which choice shows the expression used to solve the problem. Answers

1) Billy was playing the ring toss at the carnival. All together he used twelve rings. If each game you

get six rings, how many games did he play? 1
A. 12+6 B. 12-6 C. 12x6 D. 12+6
2.
2) Victor was packing up his old toys. He managed to sgueeze six toys into a box. If Victor filled up
two boxes, how many toys did he pack total ? 3.
A. 6+2 B. 6-2 C. 6x2 D. 6+2
4.
3) Cody made sixteen dollars mowing lawns over the summer. If he charged two bucks for each
lawn, how many lawns did he mow? 5
A. 16+2 B. 16-2 C. 16x2 D. 16+2
6.
4) A chef had six potatoes to make fries with, but he only used four of them. How many potatoes
does he still have? 7.
A. 6+4 B. 6-4 C. 6x4 D. 6+4
8.
5) Ned was helping his mom wash clothes. They washed three short sleeve shirts and six long sleeve
shirts. How many shirts did they wash total? 9.
A. 3+6 B. 6-3 C. 3x6 D. 6+3
10.

6) Robin was practicing for a marathon. She practiced for four days, running three miles each day.
How many miles did Robin run altogether?

A. 4+3 B. 4-3 C. 4x3 D. 4+3

7) A chef used nine potatoes to make fries for the lunch crowd. Later he used another five potatoes
for the dinner crowd. How many potatoes did he use total ?

A. 9+5 B. 9-5 C. 9x5 D. 9+5

8) At thefair the Twirly Tea Cups ride can hold four people per tea cup. If the ride has nine tea
cups, how many total people can ride at atime?

A. 4+9 B. 9-4 C. 4%x9 D. 9+4

9) Anindustrial machine can make six shirts every minute. How many shirts would it have made in
seven minutes?

A. 6+7 B. 7-6 C. 6x7 D. 7+6

10) While playing basketball Team A scored twenty-seven points. If each person scored three points,
how many people were playing?
A. 27+3 B. 27-3 C. 27x3 D. 27+3
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C:h Finding Correct Expression Name: Answer Key

Deter mine which choice shows the expression used to solve the problem. Answers
1) Billy was playing the ring toss at the carnival. All together he used twelve rings. If each game you
get six rings, how many games did he play? 1 D
A. 12+6 B. 12-6 C. 12x6 D. 12+6
2. C
2) Victor was packing up his old toys. He managed to sgueeze six toys into a box. If Victor filled up
two boxes, how many toys did he pack total ? 3. D
A. 6+2 B. 6-2 C. 6x2 D. 6+2
s, B
3) Cody made sixteen dollars mowing lawns over the summer. If he charged two bucks for each
lawn, how many lawns did he mow? 5. A
A. 16+2 B. 16-2 C. 16x2 D. 16+2
6 C
4) A chef had six potatoes to make fries with, but he only used four of them. How many potatoes A
does he still have? 7.
A. 6+4 B. 6-4 C. 6x4 D. 6+4
s C
5) Ned was helping his mom wash clothes. They washed three short sleeve shirts and six long sleeve C
shirts. How many shirts did they wash total? 9.
A. 3+6 B. 6-3 C. 3x6 D. 6+3
0. D

6) Robin was practicing for a marathon. She practiced for four days, running three miles each day.
How many miles did Robin run altogether?

A. 4+3 B. 4-3 C. 4x3 D. 4+3

7) A chef used nine potatoes to make fries for the lunch crowd. Later he used another five potatoes
for the dinner crowd. How many potatoes did he use total ?

A. 9+5 B. 9-5 C. 9x5 D. 9+5

8) At thefair the Twirly Tea Cups ride can hold four people per tea cup. If the ride has nine tea
cups, how many total people can ride at atime?

A. 4+9 B. 9-4 C. 4%x9 D. 9+4

9) Anindustrial machine can make six shirts every minute. How many shirts would it have made in
seven minutes?

A. 6+7 B. 7-6 C. 6x7 D. 7+6

10) While playing basketball Team A scored twenty-seven points. If each person scored three points,
how many people were playing?
A. 27+3 B. 27-3 C. 27x3 D. 27+3
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